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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iti) Questions No. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Questions No. 5§ - 6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 7 - 9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Questions No. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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EQug A
(=afee srehvrre)
1. o9 @ 1 T fafau | 1
AYAT
T IUFTTAT =ht gReTTya hifs | 1
2. TUFTH® GREHIV oh JIHR, ITAMRCT i H9T WAl g | (FE
farehed &1 == HIfTe) 1
(F) TAH
(@) waH
(M e d
(9) breEi |
3. T HalH foehed o WM I o3 wHear g | (e wom i qid
shifom) 1
4.  H 9% & dE1 3 Rggehd 1 15 T Iq HIOT F4q18T | 1
3HUgAT
AT <Al hHd A= BT 7Y Fq13T | 1

5.  Ueh 3c9Ted GHISGHT Ik W UREd bl HHTd e o agR <hl AT hIfNU | 3
3fea s wfga ==t HIifSw o6, fees sl &1 Saed 89 W figd for

ATd (AFC) Ish | o1 Uiad 8id & | 3
SrqaT
fgd gt @mTa gk § U-3TThR 1 814 o U1 1 IgE d TE] hifoTd | 3

7. “gui yfeefiar § U wH hiHd e q9n ST i Fufar g 8 17 @
Y fu U o T HEHd 8 ? 3794 I o U H qehETd SITEHT ShilNu |
8.  TehENId ST od B sy fob fafeifiad shem @& & & 7e7a
(%) TorHl IUHIAT I 3 | ghg BH W, I8k g J11 T8 G4 JhR i
et <t | # gfg Bt R
(@) =fe |ift 7 wen 4 gfasa yiadq, hima § gfasa giedT & @\ = 9@,
aql O ok y-3187 & THIGK Ueh et @ ghfl |
Jrqa
T a&g X I HWd § 20% I ghg BH b TNUTHEEE, i T3 AET TR
I B A B | HIT hl HIHd A ok O hl TUMT HINT | AT 56
gurfea e W fevaeft Shifsm | 4
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SECTION A
(MICROECONOMICS)
1. State the equation of budget line. 1
OR

Define Marginal Utility. 1
2. According to cardinal approach, utility is measured in terms of

(Choose the correct alternative) 1

(a)  Rupees

(b)  Ranks

(c) Utils

(d)  Units
3. The cost of next best alternative foregone is called as . (Fill up

the blank) 1
4. State any one valid reason for leftward shift in demand curve. 1

OR

State the meaning of price elasticity of demand. 1
5. Explain the behaviour of ‘marginal rate of transformation’ along a

production possibility curve. 3
6. Discuss with valid reason, what happens to Average Fixed Cost (AFC)

curve as output produced increases. 3

OR

State and discuss the reason behind the U-shape nature of Average

Variable Cost curve. 3
7. “A firm under perfect competition is a price taker and the industry is a

price maker.” Do you agree with the given statement ? Support your

answer with valid explanation. 4
8. Giving valid reasons, state whether the following statements are true or

false : 4

(a)  An increase in the income of a consumer would lead to an increase

in demand for all types of goods demanded by him.
(b)  If percentage change in quantity demanded is equal to percentage

change in price, the demand curve will be a straight line parallel

to y-axis.

OR

The price of a commodity X increases by 20%, as a result the quantity
demanded falls to zero. Calculate coefficient of price elasticity of
demand. Comment upon the likely shape of the demand curve. 4
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10.

11.

12.

13.

14.

frferfiaa Twfta oge=h =t 3 Hifse
3cqre 6 forsht (3ehreat A) 1 2 3 4
Fa quIed (T H) 18 - - 48
3ftea gyt (T ) - _ 14 -
Hiara gyttt (T 1) _ 14 _ _
Y

I A1 o o g, f|d 3UE (AP) T €I 3cqrg (MP) % S @ey
ATy |

T I 1 SR Gqe | 7 | fREt Tohlehl @ o R a%q hl IcaTeH
Tehiteh § IR BT 8 | 39 INGa o a%g hl Fgaid shivd qel dded 3 T
g Il GHTferd THT shl SATEHT <hIfTY |

Teh IUNIHT hadl & I A 3R B w1 YN Hal g a1 ArEeet ° 7 |
Ife g&q B <l hHd el 8, O TR fIvei e & sraia Ui 6t dufed
gfdfshan shl same il |

AT

ffaHH Ish bl fergl a1 foiwanet <t samen i |
3cqTEeh T hi IAT hl TEATCH IgTeLVT shi TERIAT ¥ THEATST, |

Qs d

(wafse arefome)

2 H GEg TR | (TS famhed 1 =3m Hifsm)

(%) aTfurfsIes Sl gRT SAedTater skon

(@) arferfSues St g Sefepref it

(m) fafem

(a)  tes=a (fe=a)

T 2000 % HE! T W % gEer B 7 | (ks o <1 gfd <hifom)
AT

g1 TUTeh <1 AT % Tore s fope, S e g faRaw |
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9. Complete the following Revenue Schedule : 4
Output sold (in units) 1 2 3 4
Total revenue (in ) 18 - - 48
Average revenue (in I) - - 14 _
Marginal revenue (in ) — 14 _ _
OR
State the relation between Average Product (AP) and Marginal Product
(MP), using a schedule or diagram. 4

10. Market for a good is in equilibrium. Due to some technical innovation,
production technology of the good improves. Explain the likely effects of
this change on equilibrium price and equilibrium quantity of the good. 6

11. A consumer consumes only two goods A and B and is in equilibrium. If
the price of good B rises, explain the likely reaction of the consumer
under utility analysis. 6

OR

Explain any two properties of indifference curve. 6

12. Explain the conditions of producer’s equilibrium with the help of a

numerical example. 6
SECTION B
(MACROECONOMICS)
13. Repo rate relates to . (Choose the correct alternative) 1

(a)  Short-term borrowings by commercial banks
(b)  Long-term borrowings by commercial banks
(c) Disinvestments

(d) Dis-savings

14. Signature of appears on a ¥ 2000 currency note. (Fill up the
blank.) 1
OR
State the formula used for calculating money multiplier. 1
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Feffigd § € F-|1 T Yoiid o9 787 & ?
forzar < g fou e =W
foremera wem w1 famior
M) 3RO Rl IAH

) L ITfeaat

“OTeTEE 1 YT O T AT R ATl SIEET, FHE AT i HH
T BT TIE w17 F 39 fou MU ke ¥ UEAd 8 2 9 ST ok U H
THETA HROT T |

AUAT
feafafaga 5 9 foroert 719 Sop1E 9 311 81 Hehdl 8 3T &1 2
(%) i@ 399 TgRa (MPC)
(@) oftgd 399 Sg[ (APC)

THETA SHIUT od §U 13T Toh HATRad e @7 & A" 7od

(%) w9y AT h b AP TR’ W Ty gfd f ifeerar whifiert s
1 feuf =i gt 2 |

(@) 3fc @@ 3I99m JgRk (MPC) don €wia s=d g (MPS) &1
U 4 : 17, A1 7391 U 1 9 4 B |

“guid Afd % g WHR, W h AETIRAT FTAR HEEE! T e
HAT B 17 T Y feU MU HYH W HEHA § ? 39 3T I GhEd hRUT ol
forg =hifs |

JuTfe STRf&T U™ 1 7 ? ¥ fohE TR @@ v 61 Wfshan i T
AT 8 ?

AUAT
HeclF b o ‘Sehl o Seh h hl SITEAT hHIfIT |
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15. Which one of the following is not a Capital expenditure ? 1

(a) Loans advanced by World Bank
(b)  Construction of school buildings
(c) Repayment of loans

(d) Tax Receipts

16. State the meaning of revenue deficit. 1

17. “An economy facing unintended accumulation of inventories would try to
reduce aggregate demand.” Do you agree with the given statement ?

Support your answer with valid reasons. 3
OR
Value of which of the following can be greater than one and why ? 3

(a)  Marginal Propensity to Consume (MPC)
(b)  Average Propensity to Consume (APC)

18. Giving valid reasons, state whether the following statements are ¢rue or
false : 3

(a) An excess of aggregate demand over full employment level of
aggregate supply represents a situation of inflationary gap.

(b)  If the ratio of Marginal Propensity to Consume (MPC) and
Marginal Propensity to Save (MPS) is 4 : 1, the value of

investment multiplier will be 4.

19. “Through its budgetary policy government allocates resources in
accordance with the requirements of the country.” Do you agree with the
given statement ? Justify your answer with valid reason. 4

20. What is legal reserve ratio ? How does it influence the process of credit
creation ? 4

OR
Explain ‘Banker’s Bank’ function of Central Bank. 4
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21. Fafafea stfest @ “gegad] g <Al AT HIfST - 4
(T =g )
(i) | Tl IcqTEH Yoo 300
(i) | ETEH ARG W UG qeF IiG (NVApe) 100
(iii) | T wgTran 15
(iv) | Yed=ld 30
22. Tr=ffea § 9 SH-H 7 el TG IcdTg hl VAT hid | FFferd gift 3R
HH-H 7gT gRft 2 AU 3T o YT § qehETd hIUT Y | 6

(%) wRA H fofew qamamE # Hrid WRA™ g S #Sigl
(@) “wrH Tshata’ o qvETd fagen & T AT TEridn
() foest & s B M qUEd wehd

BPE)
GEATH  ISTEN <hl TERCAT |, dTEdfass TS T q9T Hifges TS o |
AT T HIT | 6
23. (%) T THC AT THSH oiFeT H R T HIfT | 3
(@) fr=faRaa = afenfya Hifsw 3
()  Tach fafma
(i)  forsft gz

(iil) HgT T AT
24, 9uEl AT g 9= 8 ? Uk HleUeh H&ATCHS 3| hl @Al d ==l
I | 6
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21. Calcul

ate “Intermediate Consumption” from the following data :
(% in crores)
(i) | Gross value of output 300
(ii) | Net value added at factor cost (NVAR) 100
(iii) | Subsidies 15
(iv) | Depreciation 30

22. Which

of the following items will be included/not included while

estimating Gross Domestic Product ? Give valid reasons in support of
your answer.

(a)

(b)
(c)

Using

Wages received by an Indian working in the British Embassy in
India

Financial aids received from abroad after “Fani cyclone”

Purchase of second hand machinery from abroad

OR

numerical example, distinguish between Real National Income

and Nominal National Income.

23. (a)

(b)

24. What

Distinguish between Autonomous Transactions and
Accommodating Transactions.

Define the following :
(1) Foreign Exchange Rate
(ii))  Foreign Currency

(iii) Devaluation of Currency

is Effective Demand Principle ? Discuss with the help of an

imaginary numerical example.
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o THUA H M FA H AR T T HIe TR Fl B IWYETH b GE@-J8 W
o |

o YA I B foh 39 YH-IT H 24 TH F |

e HUA U9 1 I ToTEA1 & w A Uget, U9 T shilieh eravd ford |

o 39 YH-UA Wl UG o [T 15 e &1 v foan T 2 | WeA-ud o faa gaie
T 10.15 s TR ST@ | 10.15 SS9 & 10.30 SIS I B hddd JIH-UF i T
3R 38 AfY & GHH d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

AT

ECONOMICS

REgiRa a7 : 3 o2 STferHaTH 3% : 80

Time allowed : 3 hours Maximum Marks : 80
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QT 3597
G) gl @vel & @4t yeT AT & |
(i) FEF F97 & [HYIRT 37 399 a3 e 1@ & |

(iii)  F97 G&IT 1 - 4 77 13 - 16 371d TLHIHE 97 &, 15779 J% &1 1 7% & |
59T Y &1 I Uk JTaFT H &7 39T 2 1

(iv) Io7 G&IT 5-6 3K 17- 18 THIHE J97 8, 578 T35 & 3 3% & |
Y% ] I GHIT: 60 VsG] & 37feeh 751 &1 FeT |

(v) T G T7T-9 3R 19-21 Y TLHIHE J97 8, 579 59% & 4 375 & |
I HT IR GIHI=IT: 70 Jed] @ 371 a1 5147 =1fzy |

(i) ¥ &I 10-12 3K 22 - 24 I F0cAS 97 &, 575 39% & 6 3%
& | Y% 7 I GrET=Id: 100 Jsql & 37fee 787 §H7 F1fa0 |

(vii) IR TIETT TIT TeIIHF &1 TNET TIT ITHYT FH &1 T8 Ieg HHT & ST
&7 2w s =Frfae |
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General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iti) Questions No. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Questions No. 5§ - 6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 7 - 9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Questions No. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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EQug A
(=afee srehvrre)
1.  TUHTCHS GMCehlUl & TER, IYANEl o H9T WAl g | (FE
faehed a1 == hifSTe) 1
(®) wW@Y
(@) w»HudH
(m Fead
(7)  sopral |
2. O a5k o Srff 3R Ragera &1 #1E uh Ifad R0 FamEy | 1
3HUgAT
Ti <6t hiHd @ 1 3 FqT3T | 1
3. o9 @ &1 Tl fafau | 1
3HU>AT
HraTd ST 1 IR i | 1
4. 37T GaraH fashed & I H Ged Heara & | (Fad wom & gfd
hifom) 1
5. dfc qitgds &t digr o foor 81, i 3cTed GuTadT ash o AR g fevauft
i | 3
6. 3fua +ru afzga ==t HiSY o6, e shEal +1 IAET 89 W g for
AT (AFC) 9 H oI IiEdH 3id & | 3
AYAT
fga giedt amTa gk T U-3TThR T 814 o HRUT 1 IgE d =] ity | 3

7. T8 HRU ¢d §C Sa1sY ok FHEfiIRad wue @87 @ A1 7o
(%) foret uwrem 1 o H gfg B W, 3k gRT Gl € weft yeR i
gt 6t 7 # gfg Bt 2
(@) 3fg uift 78 aEn 4 yfaerd afady, sma @ gfawa afeds & aa@ 8l
ql | I5h y-37&7 o THT Teh et {@n |t |
BPC]

T Ig X hl A H 10% i Jhg 84 o TRUTHEEET, 7T i A6 TR R
20% B WA & | W hl hHd A b U hl TUMET HIFTT | AT TH D
gurfaa 3R W fevanft Hifsw | 4
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SECTION A
(MICROECONOMICS)

1. According to cardinal approach, utility is measured in terms of

(Choose the correct alternative) 1

(a)  Rupees

(b)  Ranks

(c) Utils

(d)  Units
2. State any one valid reason for leftward shift in demand curve. 1

OR

State the meaning of price elasticity of demand. 1

3. State the equation of budget line. 1
OR

Define Marginal Utility. 1
4. The cost of next best alternative foregone is called as . (Fill up

the blank) 1
5. Comment upon the shape of production possibility curve, if the marginal

rate of transformation is constant. 3

6. Discuss with valid reason, what happens to Average Fixed Cost (AFC)

curve as output produced increases. 3
OR
State and discuss the reason behind the U-shape nature of Average
Variable Cost curve. 3
7. Giving valid reasons, state whether the following statements are ¢rue or
false : 4

(a) An increase in the income of a consumer would lead to an increase
in demand for all types of goods demanded by him.

(b)  If percentage change in quantity demanded is equal to percentage
change in price, the demand curve will be a straight line parallel
to y-axis.

OR

The price of a commodity X increases by 10%, as a result the quantity
demanded falls by 20%. Calculate coefficient of price elasticity of
demand. Comment upon the likely shape of the demand curve. 4
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“qui gfeifiar o weh w Hmd whewrs qen U fma ot g 8 17w
3119 feu U ko @ HgHd & ? 3794 I ok U H qehdTd SqTed] hIfdu |

ffefiad AmTd STIE i I HIfT

3cqTeH (313l 1) 1 2 3 4

FA A (T H) 20 - - 40

3T AT (T H) — - 12 | -

Hiara @ (T H) _ 10 _ _
AT

SN 1 foa & g, IfiEd 3ce (AP) am EHid 3cd1g (MP) & &9 €@&Y
Famsy |

Teh YRR had & I&qali A 3 B 1 IUANT Ll g a1 qrmaeen | g |
Ife g&q B <l hHd et 8, O TR fIveye & rafa Sudier 6t gt
gfdfsean &t =amet HifSy |

AT

ffaHH Ish bl fergl a1 foiwanet <t samen i |

T I I SR Gged H 7 | fRE TRl @IS % R a%q i IcTEH
Tehileh H GUR BT 8 | 39 GRE0H o 9&g hl Gga hiAd a9l ddeH AT T
TS 1ol W TwTEl i SATE HIT |

@ TS ATCTehT o MMYR T FAT3T foh IcqTEH o oh8 TR W BH AdeH el §
gt 3T o= 2

fohiamn (s ®) | 0 | 1| 2 | 3| 4|5 | 6
$ima (T ) 20 | 20 | 20 | 20 | 20 | 20 | 20
FA AT (3 H) 10 | 50 | 80 | 100|105 | 125 | 150
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8. “A firm under perfect competition is a price taker and the industry is a

price maker.” Do you agree with the given statement ? Support your

answer with valid explanation. 4
9. Complete the following cost schedule : 4
Output (in units) 1 2 3 4
Total Cost (in T) 20 - - 40
Average Cost (in ) - - 12 _
Marginal Cost (in I) _ 10 _ _
OR

State the relation between Average Product (AP) and Marginal Product
(MP), using a schedule or diagram. 4

10. A consumer consumes only two goods A and B and is in equilibrium. If
the price of good B rises, explain the likely reaction of the consumer
under utility analysis. 6

OR

Explain any two properties of indifference curve. 6

11. Market for a good is in equilibrium. Due to some technical innovation,
production technology of the good improves. Explain the likely effects of
this change on equilibrium price and equilibrium quantity of the good. 6

12. On the basis of the given schedule, state at which level of output will the

firm be at equilibrium and why ? 6
. 1d G
Qu.antlty Sold (in 0 1 9 3 4 5 6
units)
Price (in ) 20 | 20 | 20 | 20 | 20 | 20 | 20
Total Cost (in ¥) 10 | 50 | 80 | 100 | 105 | 125 | 150
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14.

15.
16.

17.

18.
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SECTION B
(MACROECONOMICS)
13. Which one of the following is not a Capital expenditure ? 1

(a) Loans advanced by World Bank
(b)  Construction of school buildings
(c) Repayment of loans

(d) Tax Receipts

14. Repo rate relates to . (Choose the correct alternative) 1
(a)  Short-term borrowings by commercial banks
(b)  Long-term borrowings by commercial banks
(c) Disinvestments
(d)  Dis-savings

15. State the meaning of revenue deficit. 1
16. Signature of appears on a ¥ 2000 currency note. (Fill up the
blank.) 1
OR
State the formula used for calculating money multiplier. 1

17. “An economy facing unintended accumulation of inventories would try to
reduce aggregate demand.” Do you agree with the given statement ?

Support your answer with valid reasons. 3
OR
Value of which of the following can be greater than one and why ? 3

(a)  Marginal Propensity to Consume (MPC)
(b)  Average Propensity to Consume (APC)
18. Giving valid reasons, state whether the following statements are ¢rue or

false : 3

(a) Ex-post investment means fixed capital with production units
during a particular period of time.

(b) Marginal propensity to consume represents the slope of the
consumption function.

19. What is legal reserve ratio ? How does it influence the process of credit
creation ? 4

OR
Explain ‘Banker’s Bank’ function of Central Bank. 4
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20. “Through its budgetary policy government allocates resources in
accordance with the requirements of the country.” Do you agree with the
given statement ? Justify your answer with valid reason.

21. Calculate “Depreciation” from the following data :

(T in crores)
(i) | Gross value of output 300
(ii) | Net value added at factor cost (NVAR) 100
(iii) | Subsidies 15
(iv) | Intermediate consumption 185

22. (a)

(b)

Distinguish between Autonomous Transactions and
Accommodating Transactions.

Define the following :
1) Foreign Exchange Rate
(ii))  Foreign Currency

(iii) Devaluation of Currency

23. Which of the following items will be included/not included while
estimating Gross Domestic Product ? Give valid reasons in support of
your answer.

(a)

(b)
(c)

Wages received by an Indian working in the British Embassy in
India

Financial aids received from abroad after “Fani cyclone”

Purchase of second hand machinery from abroad

OR

Using numerical example, distinguish between Real National Income
and Nominal National Income.

24. The saving function of an economy is given as :

S=-250+025Y

If the planned investment is ¥ 2,000 crores, calculate the following :

(a)
(b)

Equilibrium level of income in the economy.

Aggregate demand of income of ¥ 5,000 crores.
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title page of the answer-book.
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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
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students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iti) Questions No. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Questions No. 5§ - 6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 7 - 9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Questions No. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
(MICROECONOMICS)

1. The cost of next best alternative foregone is called as . (Fill up

the blank) 1
2. State the equation of budget line. 1

OR

Define Marginal Utility. 1
3. According to cardinal approach, utility is measured in terms of

(Choose the correct alternative) 1

(a)  Rupees

(b)  Ranks

(c) Utils

(d)  Units
4. State any one valid reason for leftward shift in demand curve. 1

OR

State the meaning of price elasticity of demand. 1
5. Comment upon the shape of production possibility curve, if the marginal

rate of transformation decreases. 3

6. Discuss with valid reason, what happens to Average Fixed Cost (AFC)

curve as output produced increases. 3
OR
State and discuss the reason behind the U-shape nature of Average
Variable Cost curve. 3
7. Giving valid reasons, state whether the following statements are ¢rue or
false : 4

(a) An increase in the income of a consumer would lead to an increase
in demand for all types of goods demanded by him.

(b)  If percentage change in quantity demanded is equal to percentage
change in price, the demand curve will be a straight line parallel
to y-axis.

OR

The price of a commodity X decreases by 10%, as a result the quantity
demanded doubles. Calculate coefficient of price elasticity of demand.
Comment upon the likely shape of the demand curve. 4
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I:‘. i “A firm under perfect competition is a price taker and the industry is a
price maker.” Do you agree with the given statement ? Support your
answer with valid explanation. 4

9. Complete the following cost schedule : 4

Output (in units) 1 2 3 4

Total Cost (in ) 30 - - 48

Average Cost (in ) - - 12 _

Marginal Cost (in ) - 10 _ _
OR

State the relationship between Average Revenue (AR) and Marginal
Revenue (MR), using a schedule or diagram, under imperfect
competition market. 4

10. A consumer consumes only two goods A and B and is in equilibrium. If
the price of good B rises, explain the likely reaction of the consumer
under utility analysis. 6

OR
Explain any two properties of indifference curve. 6

11.  On the basis of the given schedule, state at which level of output will the
firm be at equilibrium and why ? 6

Quantity Sold (in units) | 0 1 2 3 4 5 6

Price (in %) 10 | 10 | 10 | 10 | 10 | 10 | 10

Total Cost (in ¥) 10 | 12 | 24 | 40 | 50 | 56 | 57

12. Market for a good is in equilibrium. Due to some technical innovation,
production technology of the good improves. Explain the likely effects of

this change on equilibrium price and equilibrium quantity of the good. 6
SECTION B
(MACROECONOMICS)
13. Signature of appears on a ¥ 2000 currency note. (Fill up the
blank.) 1
OR
State the formula used for calculating money multiplier. 1
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14. Which one of the following is not a Capital expenditure ? 1

(a) Loans advanced by World Bank
(b)  Construction of school buildings
(c) Repayment of loans

(d) Tax Receipts

15. Repo rate relates to . (Choose the correct alternative) 1
(a)  Short-term borrowings by commercial banks
(b)  Long-term borrowings by commercial banks
(c) Disinvestments

(d)  Dis-savings
16. State the meaning of revenue deficit. 1

17. “An economy facing unintended accumulation of inventories would try to
reduce aggregate demand.” Do you agree with the given statement ?

Support your answer with valid reasons. 3
OR
Value of which of the following can be greater than one and why ? 3

(a)  Marginal Propensity to Consume (MPC)
(b)  Average Propensity to Consume (APC)

18. Giving valid reasons, state whether the following statements are ¢rue or
false : 3

(a) An excess of aggregate demand over full employment level of
aggregate supply represents a situation of inflationary gap.

(b) If the ratio of Marginal Propensity to Consume (MPC) and
Marginal Propensity to Save (MPS) is 4 : 1, the value of
investment multiplier will be 4.

19. What is legal reserve ratio ? How does it influence the process of credit
creation ? 4

OR
Explain ‘Banker’s Bank’ function of Central Bank. 4
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20. Calculate “Gross value of output” from the following data :

(% in crores)
(i) | Net value added at factor cost (NVAp-) 100
(i1) | Depreciation 30
(iii) | Subsidies 15
(iv) | Intermediate consumption 185

21. “Through its budgetary policy government allocates resources in
accordance with the requirements of the country.” Do you agree with the

given statement ? Justify your answer with valid reason.

22,  Which of the following items will be included/not included while
estimating Gross Domestic Product ? Give valid reasons in support of

your answer.

(a)

(b)
(c)

Using numerical example, distinguish between Real National Income

Wages received by an Indian working in the British Embassy in

India

Financial aids received from abroad after “Fani cyclone”

Purchase of second hand machinery from abroad

OR

and Nominal National Income.

23. (a)

(b)

Distinguish between Autonomous
Accommodating Transactions.

Define the following :

(1) Foreign Exchange Rate

(i1))  Foreign Currency

(iii)) Devaluation of Currency

24. The saving function of an economy is given as :

S=-10+020Y

Transactions

If the planned investment is ¥ 100 crores, calculate the following :

(a)
(b)
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Equilibrium level of income in the economy.

Aggregate demand at income of ¥ 300 crores.
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